Date Period

Directions: Read each word probiem )

Step 1: Write dﬂm conéct num ber of the formula that you would use to solve the problem. .
Step 2: Solve the problems on the back of this paper. Show your work. Circle your answer.

Use circle diagrams to help you!l!!

L 2

Formula # Word Problem
1. F=ma 1. Calculate the force on an object that has a mass of 12 kg and an acceleration of 4 m/sf,_
2. PE=mgh 2. Abird carries a 25 g oyster to a height of 11 m. What is the gravitational potential energy of
- _the oyster? _
3. p=21 3. "Aloaf of bread has a volume of 2270 cm? and a mass of 454 g. What is the density of the
v bread?
4, g =17V 4, Dti‘r-i_pg a race, a sprinter increases speed from 5.0 m/s to 7.5 m/s over a period of 1.25 s,
t What'is the sprinter’s average acceleration during this period?
5. D=mchAT 5. Calculate the specific heat capacity of an unknown substance given that 204.75 ) of energy
raises the temperature of 18g of copper from 32° to 43°C.
s=2 6. A sprinter runs the 100-meter race in 10 seconds. What is the sprinter’s speed?
.
W = Fd 7. Your family is moving to a new apartment. While lifting a box 1.5m straight up to put iton a
truck, you exert an upward force of 200 N. How much work did you do?
g = % 8. A car travels 500 miles east in 10 hours. What is the speed of the car?
9. F=ma 9. A 3,000-N force acts on a 200-kg object. The acceleration of the objectis
10. F=ma 10. Given a force of 88 N and an acceleration of 4 m/s?, what is the mass?
1. D = ™ 11. A block of wood has a density of 0.6 g/cm® and a velume of 1.2 cm? What is the mass of the
v block of wood? Be careful!
12. MA:;z_i 12. Calculate the mechanical advantage of a ramp that is 6.0 m long and 1.5 m high.
13, 5 = % 13. Sally drove at a speed of 50 km /hr, south for 2 hours. How far did she travel?
14, w=mg 14. What is the weight of an object that has a mass of 25 kg?
15. W=Fd 15. Ayoung man exerted a force of 9,000 N on a stalled car but was unable to move it. How
much work was done?
16. F=ma 16. What is the acceleration of a 10 kg mass pushed by a 5 N force?
o 17, W=Fd 17. A crane uses an average force of 5200 N to lift a girder 25 m. How much work does the crane’
' do on the girder? -
18. q = Yevi 18. A person is traveling at 20 m/s in a car when the car hits a tree. The person comes tca
t complete stop in 0.4 seconds. Calculate the acceleration,
19. W=Fd 19. A crane uses an average force of 5200 N to lift a girder 25 m, but the glrder does NOT move.
How much work does the crane do on the girder?
20. KE=1/2mv? 20. A cheetah can run briefly with a speed of 31 m/s. Suppose a cheetah with a mass of 47 kg
runs at this speed. What is the cheetah’s kinetic energy?
21, w=mg 21, What is the mass of an object that weighs 58 N?
217 5= & 22. Find the speed of a long-distance runner who runs 30 miles in & hours.
t
23, Q=mcAT 23. Calculate the amount of heat needed to increase the temperature of 155g of water from 23°C
to 44°C. (The specific heat of water is 4.18 i/g°C}
24, q = V_ft_ﬁ 24. A plane stops after traveling 125 mph in 0.5 hours. What is the plane’s acceleration?
25, Q=mchy 25. 241 ) of energy is required to raise the temperature of an unknown substance from 23° to

42°C, Calculate the mass of the substance, (Speéific Heat Capacity cf the substance is 0.90
I/g°C).




1.

Calculate the force on an object that has a mass of 12 kg and an acceleration of 4 m/s?.

Given: Formula:

m =12kg F=m*a
a=4m/s?

F=7? Work:

F = 12kg * 4 m{fs?
=48 N

C

2. A bird carries a 25 g oyster to a height of 11 m. What is the gravitational potential energy of the oyster?

3.

Given: Formula:

GPE=7 GPE = mgh

m=235g

g =98 m/s . Work:

h=11m GPE = (25g)(9.8 m/s*}(11m}

= 2655 }

C

During a race, a sprinter increases speed from 5.0 m/s to 7.5 m/s over a period of 1.25 s. What is the sprinter’s

average acceleration during this period?

Givem Formula:

vi=5.0m/s a=Avf/At OR a=vi-w

v =7.5 mfs i

t=1.255 Work: o

a=? a={75mfs—50mfs) = 25m/s = 2 m/s
1.25% 1.25s

U

4. Your family is moving to a new apartment. While lifting a box 1.5m straight up to put it on a truck, you exert an

upward force of 200 N, How much work did you do?

Given: Formula:

W=7 W=f*d
f=200N

d=15m Work:

W=200N*1.5m

C

5. A block of wood has a density of 0.6 g/cm?® and a volume of 1.2 cm?, What is the mass of the block of wood? Be

6.

careful!
Given: Formula:
D =0.6g/cm? D=m/v SO m=D*%*y
m="7
v = 1.2 cm? Work:

m = 0.6 gfem® * 1.2 cm?
=0.72g

Calculate the mechanica) advantage of a ramp that is 6.0 m fong and 1.5 m high.

Given: Formulo:
Dinput =5.0m {Iength} MA = D_in_ OR 1
Dowset = 1.5 m {(height} Doyt k
MA =7

Work:

=2
b=
n
o
o
3
]
F

b
)
3

UC




7. What is the weight of an object that has a mass of 25 kg?

Given:
w=?
m=25kg
g=9.8m/s?

Formula:
w=m¥*g

Work:
W = 25kg * 9.8 m/s’
=245 N

O

8. Avyoung man exerted a force of 9,000 N on a stalled car but was unahle to move it. How much work was done?

Givern:
W=?

f = GDOON
d=0m

Formula:
W=f*gdg

Work:
W = 9000N * Om
=0N

O

8. A cheetah can run briefly with a speed of 31 m/s. Suppose a cheetah with a mass of 47 kg runs at this speed. What
is the cheetah’s kinetic energy?

Given;
KE=7

1/2

m =47 kg
v=31 m/s

Formulo:
KE = ¥ m*y?
Work:
KE = (%){47kg){31 m/s)?
= (23.5)(961)
=225835}

10. Find the speed of a long-distance runner who runs 30 miles in 6 hours.

Given: Formula:
v=7 Va=d
d=320mi %
t=6hrs Work:
V=30 mi
6hrs.
=5 mph

O 1C

11. Calculate the amount of heat needed to increase the temperature of 155g of water from 23°C to 44°C. (The specific

heat of water is 4,18 J/g°C}

Given:
Q=7
m= 155g

c=4.18 Mg °C
AT =44°C-23°C
= 21°¢C

Formidle:
Q=m*c*AT

Work:
Q= {155g}{4.18 J/g'C){21°C)
=13605.9.§

C

12. 241 ) of energy is required to raise the temperature of an unknown substance from 23° to 42°C. Calculate the mass

of the substance. (Specific Heat Capacity of the substance is 0.90 J/g°C).

Given:
G=241)
m=7?

£=0.90 /g °C
AT =42°C-23°C
=19°C

Formula:
Q=m*c¥AT so m=_Q _
c*AT
Work: .
m=___ 241) _ =14.09g

{0.90 J/2°C){19°C)

C




Date:

Period:

Physics Vocabulary EOCT review part 2

What kind of thermal transfer?
1. Conduction, 2. Convection, 3. Radiation

Friction: Match term to description

4 From the sun 73 from electromagnetic

&.T ouching something radiation

& In a pot of water o in moving fluids

& Liquids and gases | putting your hand on a
become less dense when  hot car

~
hot Q;Lfﬂll cooling you down.

1. Rolling Frictionf a.
2. Air Priction 5 b
3. Fluid Friction fy

4. Sliding Friction> ©
5. Friction )

Resistance of a fluid on an object
Resistance of air pushing against
object

Resistance of two object pushing
against each other

d. Any force that resist motion

€. Resistance of a wheel.

Which of Newton’s Three Laws Applies?
_f:l a paddie-whee! boat pushes on the water and the
water pushed back to move the boat
Q a tractor trailer truck takes longer fo accelerate

ﬂ;i a rolling ball hit vour leg hard to stop

_’& a heaver animal has to use more muscle to speed up

Ii you push on the wall and you don’t move

& Fighter pilot feels massive amount of force when
their plane turns quickly

_ L a ball won’t move until it is kicked

47 Thece ; Gy wiedl g

P —
ot ¥ e,
P A O vﬂj{?} Sers

5

3 Aon freaed von

Newton’s Laws and Simple Machines Matching

1. Inertia % a. An action that causes motion 1. Weight ¢4 a. When all forces on an object are
2. Friction C.. b. Force pulling all objects towards each | 2 Equilibrium & balanced
3. Gravity € other. 3. Mass h. Force of gravity on an object
g ist moti . .
4. Net Force DC Any force that resist motion 4. Heat L0 c. Acceleration of gravity
d. Total of all forces on an object L
5. Force jg\ 5 g (.:, d. Product of friction
’ e. Ability of an object to resist change of ]
e. Measure of the matter in an object
motion.
Work and Energy Vocabulary Matching

1. Energy £ 8 Usesenergy and can create energy | 1. Thermal D a. Energy of the atom heing split or
2. Power D b. Energy of motion, dependent on 2. Nuclear A fused
3. Work £ mass an velocity 3. Mechanical% | b. Energy cannot be destroyed or
4. Kmetic% ¢. Energy of position, dependent on 4. taw of F;} created, just transformed

Energy height, mass and gravity Conservation | ¢. Energy of moving electrons

5. Potential | d.

3

The rate of doing work, how fast
Energy you do work
e. Has the ability to create forces,

stored worl.

of energy d. Heatenergy
5. Chemical §. | e.

6. Electrica!(:;

Energy store in objects and can
do work

f.  Energy of molecular bonds




Interpreting Graphs and Pictures

Displacement vs. Pasiilon Posiion vs. Time
5
3 -
4
E3 7
t TN 7S, 7 7 £ —
=] 4 =
2 N7 NP4 ANV £
5y =8
-5 1
R R - S A e :
- - - Pc:ition ?‘m} - - - o 0.5 ! Timg'Fsec} 23 *
1. Mark one cycle on the wave above 1. What is the position of the object at 457 <= h%m{:;
2. Starting at 0.75m, where does the 2™ cycle end 19 2. When did the object reach 4m? 4 Ser
3. How many cycles are in the graph ¢} 3. Find the speed of the object (show wark)
4. Calculate the length of one wave §¢ey o “k . T4 %
5. Calculate Amplitude of wave ‘Sl oy i=" ey By Y

mice Wp

move dovn pul ) _ }!
Wave type: "i‘."f_'zm\'ﬁ"a‘é Al Wave Type: 4 Ornatt é»ﬁ fils
Ageny B_orosi A Spmp wsﬁéﬁ-‘:ﬁ*’;}
C_hepouf D_;oowefragi? B rare§ eacion
E___ounpidode < C_ twoNthe ﬁ%—i LA

Electricity and Machines

Identify circuits as Series or Parallel
oy L5

AR .
R

d.

Complete Charges
Repelling

Atfracting

B0 <®O-

Name and give an example of each simple machine

1. Secpnar Sfirad slair cose
Examyple:

2 ionecd ¥ oxel  voller skede
Example:

3 et e
Exampie:

2. Amiet Qoo gﬁ"ff_ Neme o
Example:

5. indhned Piﬂh‘ﬁ » fomp
Example:
. ~

5. Puily, Qas onNlan, peie
Example? - >

3%&%5 s rtiowns




Name: Date: : Period:
Chemisiry - Chemical Reactions and Properties of Matter EOCT Review part 3
1. Find the density of the following objects:
Object Mass | Volame ; Density | Object Mass | Volume | Density
Large cylinder | 28 ¢ [ 5ml 56g/ml |Targecube [45¢ | 10cm3 | 4.5 g/em3
Small eylinder | 15g | 3ml 5 g/ml Largecircle | 22 g | 5ml 4.4 g/ml
Small cube 272 | 6cm3 4.5 g/em3 | Smallcircle | 11 g | 2ml 5.5 g/ml
&;Xﬁ ;.rak: houwsn W ) N
: : nass
\ A .
3 AR \:5 U{:}‘Um(’

8.

Which two samples of the three types of items above (cylinder, cube, or circle) do you think is made of the same

material? Why? Sttt § "’gmyi?e;_ oot ;

bk, '\Wg} Fov e Sy é;{fn‘:‘fiﬁ

‘What is the difference between an émlc compound and a covalent compound?

ﬁ‘\ﬂk "‘\Eu ¥ {“50(“

What is a2 valence electron?

it i AN O’*ﬂz' LT3
Vechon L Qe Ty E(O(\ ;

What is an oxidation #7
\.k‘a&}f 2

LatR RN

ehe N‘aa!{% Aot G

}\ MGMCJYM\tj

czfcua;«lﬁ 4 é.;égﬁ % %r‘aorﬁ:

What is the’difference between a cation and an anion?

Colon = Qhu.re?e‘ foemel h‘b (S PP

Fill in the m1331ng information’

. \ I LS . )
j Gnion ™ th}s'.“{y’ f%\Drﬂr‘E_{Q hj nor}m{ia‘\j

1* element | 2™ element | Chemical formula | Chemical Name _} - .
e e ke " .
Na' Cr? NaCl Sodium Chloride :m “RWUST belange
: o . ; - (O.47 .
K 8- & Y{ }"E} QoG5 o pny R\, ™ :;3(‘& No Prc{‘ hes
Can 2 cr Lol Code ey, g orihé ame
C 0 L Carbon dioxide
N O N2Os é‘»m‘i AT AT Qe.-r\ﬁ Ehﬁi&!ép _
Mg¥ & o- & ' O Magnesium oxide QU‘JW\M\"% mu @T L'!u,\;? )
S O &O,}‘ SUlfur}-g_QXidE . % F‘E‘t‘ ‘ Yhow & I\(
Mg > P %) - . _ REARY
] NEJ\ 7 ‘ S PA G e a2 32 :éjf | meno
Ap'}p O -#F - F o ! 4 l‘ A h(}{,c}\
: Al %Dh P R T LY C)lué‘,{" 2 ":‘}r T+
O ¥ O T - Oxygen triflouride 3 4 \ e At
L . Cy CCL‘ corben derachomibe o Aot re \ Fooda
Al?t; Cli! ,L\\ C.\ alussom_ chtoode " ‘9 [RIAYYY
CK O \,_U,,O codoivan  OAIRE o P“‘d i 0 e o
P - Q . _ P20s e phos ;ﬁi\ar fn ¥ :'neni e ool
Na 5 & Nf"- ﬁ% S0 tnan _sulade

Bala,ﬁe the following equations and tell what type of reaction it is

NaBr+_j Ca(OH) — _} CaBn+
b) B NH:+ % HSOs -\ (NH:SOs

) _H CsHeO+ R T Oy — 3 COx+ 1% H0

dy A Pb +_@~;H;.PO4—> H W+ | Pbs(PO4),
LiN+ A NHNO;— 2 LiNO;+ | (NH:N
_ b AIOH: — P B0+

e) 4
5 3 HBr+

i AlBr

dookle
Jurthears
[W)
Cambpust Do
:bmu‘ir r'onlmm rn‘i

reaction type dm unle ool imen
reaction type rlggzb{r E(—PIQ £ fncm E

NaOH reaction type Y Q\,;}n (‘ﬁ

reaction type

reaction type

reaction type

s B



Classify the followmg chemical rcacnons

10,

11

12.

13

14,

15.

16.

i1, CsHg + 603 > 4CO; + 4H:0 P HCIY NaOH “SH,0 + NaCl l :
'\g::am\ewwi c«f“‘ LO””"’ r f‘p\m,m:‘ rt

13, 2KNOyy —> 2KNOg + Ongy ,\ - %4 AgNO, + NaCl > NaNOs + AgCl
QECOMmpwee A
— e b _____________________ uobl T, r‘:ﬂ{_}ig_xgkﬂ_}{_ R Ty
i5. 2Mg+ Oy —> 2MgO 2A +S--¢A S
& ? s :)U?“\jﬁ\'\{ “ptla ; 5 & ‘%%

TR R e i R T AT T ST 1 d b\ﬁﬂ A J:)‘q gy
MgCOa(,,) - MgO(s) + COz(g) ! 8 Clg + ZKBI‘ - 2KC1 + Brp :
et caiice SRS AL L e P S g

9.

| ln the fo[ lowmg examples ldentlfy the solute and the so]vent

a) Sugar dissolved in water - solute S bor solvent Lootcr
b) Salt dissolved in water - solute 25&\\‘? sofvent _teood ¢«
¢) Carbon dioxide o soda - solute CO i solvent S0 al

What are the three things that will increase the rate of solubility of a solid in a liquid?
C_‘(U)}‘) % L\?("( G50 Jgf{ﬂtf (it c) J S i J hc(;t @oicwﬁ‘

What are the two things that will increase the rate of solubility of a gas | into a liquid?

QDC}‘E ﬁ (.10\4)'%13[?\(53 £ J\(‘l)&' p“’ﬁubr‘“{a / .__c)-nq' fﬂufﬁ:

List 3 properties specific to acids;
a} st
b) fowe oW LT
<) Prodoce h%&(cﬁ&ﬂiah,g B
List 3 properties specific fo bases:
a) pat of , shopa 4
) bign o > 7
2 producs h\f}c‘;rs‘née (,@ﬁ "

List 2 properties that acids and bases share:
5 o 2 i . 3 .
a) C,‘h{xm‘?c Coy ! A m&fuﬂ OFs

B} tars el echealites
Explain what happens when an acid neutralizes a base.

Qc;é = bf}s‘}é ity 'f"}ﬁ‘“f “+ oot ef

Indicate whether the following substances are strong acids, weak acids, neutral, weak bases, or strong bases based

on their pH.
a) \nl E Baking soda pH =38 e) ﬂﬁ Lye pH=13
b) WP  Liquid plumber pH =12 _wifh  Ajaxliquid pH=7.8
c) ) f \ Pepsi pH=2.6 STV ﬂ Nail polish Remover pH=6.5
dy _\WB Pickle juice pH=5 h A Purified water pH="7
V% b 45 b 7 9 8 0 AR 13 gy
0 E -~ P . L-nv-""‘*——-—w—"‘
\.——.—'J L Gas,  Catacig % wo eet oS es s
2y f“ﬁf’or\b Tl s

i e

shcong Aot S



Chemistry Yocabulary Matching

1. Neutralize E} a. Whea pollution causes rain to be 1. Weak acid Q & The measure of acids and bases.
acidic (pH of less than 5.6). b. The product of a neutralization

2. Neutral Q b. To mix acids and bases to cancel each | 2- PH G reaction between an acid and a base.

TR other out and make salt and water. > A ¢. A compound that adds a few H+

3. Acid rain A ¢. Equal number of H+ and OH-ions; 3 3&0115 Acid Q ions to water,

4. Acid € water is an example. 4. Salt Water ﬁ‘) d. A compound that adds a lot of H+

d. A compound that adds OH- ions to ions to water,
5. Base D water. ’ 5. Weak Base E’ e. A compound that adds a few O¥--
e. A compound that adds H+ iong to ions to water.
water.
1. Alpha a. The largest natural lement. Fuel for 1. Chain reaction{] a. Combining smaller atoms into
Particle D fission reactors. larg.er‘ atoms.

2 Gamma € b. Can be stopped b}( wood; occurs when | 3. Fission ‘5 b. Sphttmg. 1?rge atoms into smaller
a neutron breaks into a profon and : ones. Toxic by-products.

Ray electron. 3 Fusion ¢. When one fission causes another

3. Beia % c. An atom that emiis energy or a. ’ A and another, etc...

. article. A d. Using the known decay of an
Part!cle ) d. % helivm nucleus (2 pretons and 2 4, Half-life E isotope to determine the age of

4. Radmacl;va, neutrons); low in energy. ' ohjects.

5. Uranivm [ |e. Powerful radiation that can cause 5. Carbon Dating | e. The time necessary for 50% of a
biological damage; takes many feet of 1) radioactive sample to decay.
concrete to stop.

1. Solmionc.. a. When a substance cannot be dissolved a.  When 2 solution can hold more
into a salution. solute.

2. Aloy e) b. A mixture of two metals. 1. Supersaturated(l y,  When a solution can’t hold more

te c. A mixture that is homogeneous at the : solute.

3. Dissolve O molecular level. ¢ 2. Saturated E} ¢.  When a solution has more solute

4, Suspensio@ d. 'When something seems to disappears | 3. Unsaturated '&\ than it can hold.

e into a solution. d.  The part of a solution that is
5. Colloid £ e. A mixture that scatters light and the 4. Solute § biggest, (The water in salt water.)
6. Insaluble A particies do not settle out. 5. Solvent ) e. The part of a solution that is
f. A temporary mixture; the particles smallest. (The salt is salt water.}
will settle into layers.
1. Tom % a. A negatively charged ion: non-metals Draw Lewis diagram for following elements:
. b. A positively or negatively charged on
2. Cation & atom because electrons have been Calcium 6 Oxygen 4 -
. gained or lost ) & O o
3. Amion q ¢.  An atom with the same number of O ®
4. Neutral ¢ protons and electrons o R
d. Says the atoms will gain, loses, or Silicon Indium .

5. Oectet Rule g} share electrons in order to have 8 & % & Ih ]
-~valance electrons t ’

e. A positively charged ion: metals i @

g pH below 7

Identify as Acid, Base, or Neufral

‘Ni pHof7
j ...... _ taste sour

) _ bleach |

_% produces OH'!

A produces H*!

pure water

Ei) pH above 7
i ) taste bitter

{b feels sli 1ppery

& femon juice

(b hydrogen acceptor

&' hydrogen donor

i’\j equal # of U and OH

Give Valance Electrons for:

Lithium | Nitrogen 2 Chlorine ! Calcium &

Phosphorcus 5 Aluminum 3 Selenium é :
Give oxidation nomber (charge) for:

A . k] - i
Lithium 1 Nitrogen = Chiorine =1 Calciom ¥ | a

Phosphorous‘"_:}g Aluminum _+ 2 Selenium =&




Name

1.

\/< {AWA Date

Chemlstrv—#(tomm and Nuclear Theory and the Periodic Table EOCT Review part 14
List the three subatomic particles; tell where they are found and what charge they have,

Period

Pariicle location charge
Proton i Nucleus tﬁ
f\ (:U%(:aﬂ g v\t ﬁiv; e E. £ 52 <, O
§ P ﬁ’ko' A_.i R
elecAron ke elecd ron §mﬂ3;
2. Label the parts of the beryllium (Be) atom to the right > )
5 Wt 0092 S o s of P bt 4ot 16 mosiomg b
4. How are the elements arranged in the periodic table? ' o o
CaRORLY 54 rrang P ) ! ({‘“”ﬂih 06
5. Jodance electrons determine how an atom will react.
6. What does the atomic number tell you? # ok {}foit} ng T in tegd rd cdop F of *P(“"’fi‘an}
7. How do you find the number of neutrons an atom of an elgment would have?
omye OGS = SomiC H = poulronS
8. What are valence electrons and how do you find out how many valence electrons an elsment has?

s

C%" elecdeons o odd o erarly ;wﬂ > iC}DI'{ éﬁ 1

cl}@f! 0% groop ﬁ

Al v groog V3 hes D wdance
9. Give the number of protons, neutrons and electrons in the following isotopes: Troabs
# of protons #of neutrons  # of electrons -
a. Mg-24 { A1 zie 17 i D&
b. Mg-26 G ab 1= 14 2 9 . > 15 alemie masg
oL v
¢ N-15 1 e 3 7 >topc
d. 0-18 % i5-%= 1D D + .
e. Si-30 Lo so - - 16 P aomic p @ e
f S34 L -6 1B 1o
10. Complete the table. There is enough information given for each clement to determine all missing numbers
Symbol Atomic Mass Number Number of Number of Number of
Number Protons Electrons Neutrons
23 . o T
Na ik 2D i Ll "2,
K 40 : i9 >
3 L9 ' Al
F 0 14 q (} 10
[:m*?* 20 41 20 18 al
S 50 (Y 50 50 72
131 ) -
\ ! 5% 31 52 53 &Y
m .. a6 _
-‘.A.l %‘\ b ﬁ - 1 2 E 1 i
6 , . - o
S 6 14 [ C L6 20




i1.
i2.
13.

14.

15.

16.

17.

18.
19.

20.
AR
22,
23,
24.

25,
26.
27
28.

What is radioactivity? §7C¢ 7> toed unstable i’é\ﬁmb tehoone  SRETY of ?“”“"{“‘ to b&:w%@ stoble
What is half-life? amerst of $aane 'HG\‘N,; \05 %’0 o ok &ggﬁ)mhw subsiance "10 df{,&.s\é

If we start with 400 atoms of a radioactive substance, how many would remain after one half-life? RO D adnm s
after two half-lives? LO cdomsatter three halflives? 25 O cdoms  after four half-lives

A5 ademns ?
A paleontologist discovered fossil remains of ancestral mammal, and in order to have basis of comparison to other
ancestral mammals, he needed the age of the fossil. The carbon 14 au&lyms indicates that only half of the original
amount is present. How old is this fossil?  haif-hic of ©-14 150 years

The half-life of hydrogen-3 is 12.3 years. Given 100 g of hydrogen-3, how many grams will be left after 5 half-
lives? oDf9 = 50 /2= 2 sa: Re[fa=63s fo =¥ 5

b ffe o e frbe 4 i |
A patient is administered 20 mg of iodine-131. How much of this isotope will remain in the bod after 40 days if
the half- lrfe foriodine-131 is 8 days? Q02 = = 5ie = A5 f = |18f, /5. 5?57 g )
B D bl pesse ;;, 2 e 5 ' 5 :
The mass of cobalt-60 in a sample is found to have decreased from 0.8 g10 0.2 g in a period of 10 S yeam From
this info, calculate the half-life of cobalt-60 ﬁfé = (,?;5@ <R = D"‘"j’g o540 5 35 4
] ne aiﬁv gs;;g«:{i'? & bles - ¥
The three most common states of matter are S0k &, Y 2 iy W& & Qo>

The kinetic theory states that the higher the temperature, the {@sier}/ slower) the particles that make up a substance
move. "

As a sample of matter is cooled, its particles move more (4 2 :

The particles that make up a solid move Siwwer f les5 than do the particles that makes up a gas.

Matter that has a definite volume but no definite shape 1s a1 PP c_‘

Matter that has a defmite volume and a definite shape 15 2 s epsia

If you move a substance from one container to another and its vo]ume changes the substance is a %&5 :

Sunce Substance B
In the above picture, which substance is a liquid? {%
In the above picture, which substance is a solid? A
In the above picture, which substance is a gas?
In the above picture, which substance are the forces of atiraction among the particles so weak that they can be
ignored under ordinary conditions? oo ¢35

Melting and Boiling Points of Some Substances

Substance | Melting Point | Boiling Point Pretting @4 = ?:'ecu% pt

Hydrogen -258.3°C -252.9°C

Nitrogen & 2100°C -185.8°C S -
g : - - bU\.\B {‘3 ff{ - Coréﬁn,gcﬂ ey ﬁ'{;
Acetic Acid w 16.6°C 1H7.8°C

Gold 1064,2°C 2856°C

29,
30,

1.

' £
Based on the information in the table above, the melting point of acetic acid is ) éeé ~.
[+
Based on the information in the table above, the freezing point of nitrogen is b0 &

Based on the information in the table above, W]]lch substances would be 2 gas at 0°C?

Lo ool {}fﬁfé/ ”‘i:;,._ g‘{ O Cf 50 Hﬁﬁﬂ{}m ; Md!(}%&“ﬁ



312, Asolutionis a ho moif}t neOvWA?  mixture of two or more components.

33. The 50} 3 r;f\?% is the component in the greatest amount.
34, The Sol\wA€  isthe component in the least amount
35. In a mixture, the ‘ﬁml Y C.f“a'bi dissolves in the ﬁD%U’f &

36. If you dissolve sugar in water, which is the solvent and which is the solute? Water = Solveat Sugar = sowot e

37. Soft drinks consist of a mixture of water, sugar, and flavoring, with carbon dioxide gas bubbled through it. Which
of these ingredients would be considered the solvent? Load of
38. Dry air is primarily made up of nitrogen (78.09%) and oxygen (20.95%). Which of these 1s the solvent and which

is the solute?  Nitrogen = Ao\ e A _Oxygen= Sofut ﬁ o

Classification of Matter—Know definition of Matter; Be able to give examples of and teil difference between:
Mixtures and substances (non-mixtures); Homogenous and heterogeneous mixtures; Klements vs. Compounds,

Label as Mixture or Pure Substance 1. Pure substanc @ Made up of two types of matter that can be
Salt Water (€% Chicken Soup Y% 2. Mixture A physically separated.
Water 52 Salt PS5 3. Heterogeneous & b. Two samples might not be the same.

. : Mixture ¢. Two samples will have the same makeup.

S , M
Silver -E—— Chexmix - 4. Matter &S -+ Has only one kind of atom in the sample.
Label as ml}ogenous or E@.ﬁﬁmgﬂﬂf’«ws 5. Element {J g Contains two kinds of atoms that cannoi be
Sugar Water o Vegetable Soup et | 6. Homo geneoug™ physically separated.
Chex MixHc¥ Jello w/ fruit_H& Mixture £ Cannot be separated by physwal means.
Milk o Plain Jello flo#7 7. Compound E & A classification of anything that has mass
- and takes up space.

Write the metric prefixes in order from ]argest to smallest:

Ko | - b
Kah’»‘ hC(«‘\‘#’\ AE_(..U\, h;)(a,)c {l}Q,QI g@‘ ¢
A 8 den, I~ m
Convert the Following Identify Physical or Chemical Change
3.2 kilometers = 3 200 meter Sugar dissolved in water phg "
0.23 centimeters = A , 2 millimeters Wood buming Q‘r},e fry
0.12 liter= | O milliliters Digestion C,ho tv)
2500 millileters = 4.0 liters Water Boiling Uy
4500 grams = - E,f;* kilograms Two liguids bubble when mixed \“\h@ -y
9 kilograms =4 D00 grams Cooking food Q‘\ ey,
54 m%ﬁters = Qid not oo g\“&ﬂfﬁ]jters Melting butter Ph \;\
Cirele the mdlcators es
ids and underline the bases Underline the indicators of a ¢ emlcal change
(Melts, Produces gas Changes in color
@) Ca(OH); o —
anges Smell Ripped™ CCuifings
B ) Turns cloudy Changes taste
NaOH




Particles with no charge that exists in

the nucleus of most atoms,

Center of the atom, contains most of the

atom’s mass.

¢. Positively charged particle in the
nuclews of the atom.

d. The smallest part of an element or

molecule.

1. Proton{; a.

2. NeulronA b.

3. ElectronF°l

4. Nucleus E}

5. Atom D
' f. Negatively charged particle that exists
in the space around the nucleus.

6 ga Total number of protons and

o neutrons in the nucleus of an atom.

b. Number of protons in an atom;
also the way the clements are

1. Afomic
Number

2. Molecule E‘

numbered.
3. Compound 0 ¢. An atom with a different number
' of neutrons
4, Mass d. Two or more clements combined.
Nmnberb‘ e. Two or more atoms that are

combined
5. Isotope .~ [ f. Number of electrons in an atom.,

Solution (So); Colloid {C); Suspension (Sp)

L
Milk in water ¥ Doesn’t settle; scatters Hght Q« .
- -
W ) . o
Vinegar in water W Doesn’t scatter light or settle <20

Sp
Mik (-

I
Sand in water _ P Settles and scatters light

C

()il and water éﬂ Fog

The tempera%ﬂfs at which a solid turns to liquid is called:ins

The temperature at which a liguid turns to a gas is called:kn

O PRy
C"oﬁﬁ\-f a5y
The temperature at which a liquid fums to a solid:

When a solid turns straight to a gas is called:

The temperature at which a gas turns to liguid:

%‘TI"QE,H\}_
et QB “ #‘e““,{d [y
5,;:}‘?‘

£ g
Avd b

At what temperature does water melt? e
At what temperature does water boil?  jeyy”e.

Fndothenmc or Exothermie

I Y ?(’nkﬁﬂ;ﬂzﬂ’a' cortornd  Teachon oaeisia
1. Ifitgetseold  &pdn
2. Ifitgetshot € ¥ O
3. Condensation: (D )

4. Vapaorization: F m\t}
5. Ifit absorbs heat ((‘ g\éﬁ
N
6. Ifitreleases heat t,g{ 9]
™
7. Melting C,J\é'i}
.
8. Freezing _C X0O

Give the group/family name for the following groups on
periodic table

allol) pnedels
Group 2: arhohine  cartb mcf’&\}

Group 1:

boro
C&‘T;‘k’:}hﬁ

fist CLFACe

Group 13:

Group 14:

Group 13:

Group 16: Df{_..{f}an

Group 17:

el omens
o

Group 18: ﬁob'g £ OGS esn
L

Reading Chemical Equations

LiO + MgCly - 2 LiCl + MgO
M oy C.«E .3

] L
LGt

Write the second reactant;

Write the first product:

How many Lithium atoms are on the product side? @.
What is coefficient for lithium chloride? /[;L _
Type of reaction: doub\ £ oo g’)\(.g;,m ok

2 C:H0H +9 Or — 6 CO2 + 8 H0
Co,
How many carbons on the reactant side? {;

How many hydrogens on the product side? E é

What is the coefficient for carbon dioxide?

Write the first product:

Type of reaction: __ (o baests oy

ﬁ‘ﬁgﬁi

Mivey
‘"\i Rele)
5%



Physical Science Reference Sheet

Force, Mass and Motion

Velocity = displacement _ d
time f
Acceleration = final velocity — initial velocity

time

Formulas
Chemical Reactions and Properties of Matfer
Density = 2% _ =2
v volume ( %
Ve—
(a= .h.m..lv Volume of a rectangular solid = length % width x height (V= lwh}

mass X specific heat capacity X change in temperature  (Q = mcAT)

‘Waves, Electricity and Magnetism

(V=1IR)

Weight = mass X acceleration of gravity  (w = mg) Heat lost or gained =
Force = mass x acceleration  (F = mea)
Work = force x distance (W= Fd)
Mechanical advantage = Voltage = current x resistance
effort distance  _ resistance force (MA = de _ I
resistance distance effort force d f

Constants and Relationships

Kelvin = °Celsius + 273 (K= °C+273)

n

Acceleration due to gravity: g=~=10
m“— uN o w @ON

newton: T N=1kge

joule: 1J=1N®*m

m
rMaM

Copyright @ 2005 Georgia Department of Education

Turn over for the Periodic Table of the Elemenis. @




Georgia Physical Science End-of-Course Test

BRI
1 2
H He
Hydrogan Haliim
1.1 ; C oo : i : TR 4.0¢
3 4 s 5 8 7 8 9 10
Li | Be T cu B | C|N| O/! F | Ne
Lithitern Beryllium i Coppsr Boron Carbon Hitrogen Oxygen Fiuaring MNaan ”.
€.84 8.01 Ft 10.81 12.01 14.01 16.00 19.00 20.18
11 12 13 14 i5 18 17 18 i
Na | Mg Al Si P S Cl Ar |
Soditm  |Magnesium Aduminum Silicon  |Phosphorus|  Sulfur Chlorine Argon |
22.98 24.31 s . . ; . o ) = 28.98 2E.09 30.97 32.07 3545 3885 |
19 20 21 22 23 24 25 28 27 28 28 30 h 32 33 34 35 36
K Ca | Sc Ti Vv Cr | Mn | Fe | Co Ni Cu Zn | Ga | Ge | As | Se Br Kr |
Patassivm | Calurn | Scandiom | Titanium | Vasadium | Chromium |Manganess Iran Cobalt Nicks! Copper Zin Gallium  |Germaniuml  Argeniz | Selenfium | Bramine Krypton
33.10 40.08 44.98 47.87 £0.94 52.00 54.94 55.85 58.83 58.89 63.55 B5.39 58.72 72.81 74.52 78.98 70.90 B3.80 |-
ar a8 39 40 41 42 43 44 45 - 48 47 48 49 50 53 52 53 54 i
| Bb | Sr Y Zr | Nb [ Mo | Tec | Bu | Rh Pd | Ag | Cd In Sn | Sb | Te } Xe |
- | Aubidium | Strontium Yirium | Ziconium | Niobium  [Molybdenum | Tecknatium | Rutheaium | Rhodium | Pallagium Sitvar Cadmium Indiytrm Tin Artimany f Telunum fedine ¥enon
85.47 ar7.62 88.81 g1.22 82.91 45.94 {88) 101.07 102,91 TOE.42 107.87 112.41 114,82 118,71 121.76 127.60 126.90 131.29 |
85 58 57-71 72 73 T4 75 7B 7 74 79 80 81 82 a3 84 85 g6
Cs | Ba | Hf | Ta | W | Re | Os Ir Pt | Au [ Hg { TI { Pb | Bi | Po | At | Rn
Ceasium Barfum ’ Hafrium | Tamtalum | Tungsten | Ahenium | Csmium tridium Platinum Giold Mercury | Thalium Lead Bismuth | Polonium | Astatine Radon
132.91 137.33 178.49 180.95 183.84 186.21 190.23 192.22 195.08 196.97 200.58 204.38 207.2 208.88 (208) (210} 222}
- 87 88 83-103 104 105 108 107 108 108 110 111 112 113 114 115
Fr Ra | _. Rf | Db | Sg | Bh | Hs | Mt | Ds | Rg | Uub | Uut | Uuq | Uup
Franclum | Fadium Authenrdium{ Dubnlum  |Seaborgum| Bohrium | Hassium | Meitnetium | Darmstadiium| Roertgenium{ Ununbium 1 Ununtdum |Unenguadium |Ununpentitm) H
{223) (228) (261) (262} (266) (264) (269) (268) (281) (272) {285) {284} {289) {286) '
57 88 53 &0 81 g2 83 64 65 86 87 68 69 70
La Ce Pr Nd | Pm | S8m | Eu | Gd | Th | Dy | Ho Er | Tm | Yb
Lanthanum | Cerdam  [Prassodymivm |Meodymium fPromethium| Samarium | Ewropium jGadoliniom | Terbium | Oysprosiorm| Holmium Erblum Thullum | Ytterbium | Lutetiem
138.21 140,12 140.91 144.24 {1458) 150.38 151.86 157.25 158.93 16e.50 184.83 167 .26 188.93 173.04 174.97
ay 90 91 g2 93 94 ah 98 a7 98 99 100 11 102 103
Ac | Th Pa U Np | Pu | Am | Cm | Bk Cf Ees | Fm | Md | No Lr
Actinium Thorium  [Protactinium| Uranium | Neptunium | Plutenium | Americium |  Curium | Berkelium | Californium [ Einsteinium ] Fermium [Mendelevium | Mobeliem  |Lawrencium
(227) 232.04 231.04 238.03 (287) (244) {243) {247) {247) {251} (252 (257} (258) {269) {262




